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Faw o fieeq &1 & FR A

(v) <A R I A e e 8 3R Gl T v $ Wl s A

(vi) HererR & wam & Irgaf A &I

Note: (i) There are in all 30 questions in this question paper. All questions are
compuisory.

(i) Question No.1 to 10 carry one mark each. Question No.11 to 15 camry
two marks each, Question No. 16 to 25 carry three marks each and
Question No. 26 to 30 carry six marks each.

(iii) Question No.1 to S are multiple choice questions. Here four options are
given in each question. Write the correct option in your answer book,

(Iv) There is no overall choice In question paper, however, an internal choice
has been provided in two questions of 2 marks, Lhree questions of 3
marks and three questions of 6 marks each. You have to attempt only
one of the given choices in such queslions. -

(v) In questions on construction, drawing should be neat and exactly as per

the given measurement. |
(vi) Use of calculator is not permitted.

PT.0.
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1. Pl o & ndl 9T 2n+1 &, A AN T awdt 97 @ , 1
| The n* term of a series is 2n+1; its 10th term will be- - '
() 10 (it) 19 ' (li) 20 (iv} 21

2/ sin 25°cos 659 + cos 25°sin 65° & WA TAKE - - ! 1

Evaluate sin 252 cos 65° + cos 25° sin 65°

(H o (i) 1 (i) 90 (v} 1/42

3, UF A T AR 14 TR €, TTST THYS SNl L ' 1
The diameter of a sphere i§'14 cm, its surface area will be-

") 308 cm® T (f)) 4312/3 cm? (i} 616 cm? (iv) 154 cm?

—

4. AABCH, AB=g 3 a1, AC=12 Wi 31k BC=6 ¥, &I BT B ¢-
In AABC, AB=6./3 em, AC= 12 cm and BC=6 cm. The angleBls -
(i) 120° () 60° (i) 90° (iv) 45°

5 [0S OrS 3 S aR thel I &, vF oW T SR AW B wiidar anfl- 1

A die is thrown once, the probability of getting an odd number bn the top will be-

M 3 W Y% w ¥ %

129
6, maﬁﬁmm%&w%q&hﬂm a2 1 T SR A
T T 3G ? I ]
Wlthour performing the long divislon, state whether rational number :,9

will have a terminating demmal EXPansiﬂn or non-terminating repeated decimal

- expansion. -

7. yaﬁ'r‘aamangmav"lﬁm %ﬁ'ﬁiqwﬁﬁmmmmm o JE 3 1
The sum and product of the zeroes of a quadratic polynomlal are 0 and .5
respectively, What Is the polynomial? ' '
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10.

11,

14.
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feamer WAIEROT x2-4x +4=0 & Tell Y wepfey arar forel 1

Find the nature Of the roots of quadrat]c equation x2_4x+4=0'

e ga o Rt e T g W & 1

How many tangents can a circle have?

v FPad gea o fsam migman axd &2 1

What is the probability of a sure event?

A el 31 3R 26 & 3R 0w < g e B A T &)1 e wd difel 2
The difference between two numbers is 26 and one number is three times the

other. Find the numbers.

afX cos 8=4/5, a (cot 8+cosec 8)2 B HIF T BT 2

If cos 0=4/5, find the value of (cot 9+cosec 8)2,

‘e fig (3, 2), (-2, -3) 3R (2, 3) v PR 87 af &, a sage & 50 R o

2

B e 8?

Do the points (3, 2), (-2, -3) and (2, 3) form a triangle? If so, name the type

of triangle formed.

aﬁa”rﬁmﬁﬁoenm%‘.?ﬁxmmmml 2
In given figure If DE||AC, then find the value of x..
FHUA (OR)
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SRy Ry e ferx 3, R pQy(Rs &, ot frg St f5 apqo~ ARSO B
In the following given figure, if PQ|IRS, Prove that APQO~ ARSO.

R
PINO

Q
S

15., T & 52 T & T X v v agemn Wian e &, miyear v St fb ag g

J

(&) §FHEI 1
(@) TE I E _ I
A card is drawn at random from a pack of 52 cards. Find the probability that the
card is -

(a) an ace.

(b) ared card.

3431 (OR)
o TR 3 et 24 id &, o o e ok gl el &1 v i wgeman Pt it #
3k 3w &0 A9 o it 2/3 81 FR | Fa et et o W= qaRe| 2

A Jar contains 24 balls, some are green and other are blue. A ball is drawn at
random from the Jar and the probability that it is green is 2/3, Find the number
of blue balls in the Jar.

16. Rz dfsefs (7 vo 3uRaa dem 2 3

J Prove that J7 is an irrational number,
J4ar (OR)

af 1261 @ 1067 B H.C.F. 97 &, & T937 L.C.M 31d &ide|
If H.C.F. of 1261 and 1067 is 97, then find their L.C.M,

17. ‘3’ @1 AT 7 SIE TS KUK IR (a-12)x2+2(a-12)x+2=0 3 57 7O &
2\ - 3
Find the value of "2’ such that the quadratic equation (a-12 }>;2+2(a-—12)x +2=0

has equal roots.
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12 2 4
18. mﬁm‘l;*;’;-:"ﬁ‘x“y“zahamﬁrﬁ’zml 3

2 2 4
Ive the ns -t =3 b
Solve the cquations 'y y and X"y 2,

19. WWM (A.P.) T W g 5, 3iforst oz 45 3R @ &t dnr 400 21 92T 1 T
q =R Ta el 3

The first term of an A.P. IS 5, the last term is 45 and the sum of terms is 400.

Find the number of terms and common difference.

20. Fag e - | 3

Prove that -

1+secA _ sin‘A
secA 1-cosA

m (OR)
fag Hifm -
Prove that -

(1+cot A-cosec A) (1+tan A+sec A)=2

21. :mﬁgasﬁémasmﬁaﬁﬁw 3 el (-1, 7) 3R (4, -3) B By A Y &
/ 2: sasaqgmaﬂﬁmﬁﬂmél 3

Find the coordinates of the polnt which divides the join of (-1, 7) and (4, -3)in

theratio 2 : 3.
22 x-mquagﬁﬁmma?ﬁua’rtz 5) 3R (-2, 9) ¥ WA € 3
Fmd the point on the x-axis which Is equidistant from (2, =3) and (-2, 9).
[5]) [PT.0.
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53, Rrq & BIOTRS MITT a7 X 1 SIOTE, TRk ABCD, sy 14 - 1 U a1l € T APB
3 pPC & 31T & 3

: ' var
Find the area of a shaded region in the adjoining figure, if ABCD is a square of
side 14 cm, APB and DPC are two semi circles.

D 14 cm. C

37T (OR)

4 3. =T a1 v g9 & Frsoavg OAPB &1 8AGA 1A SifsT, T ot 30° 21
T &Y Breaavs o &awd @ aa el (=3.14)
Find the area of the sector OAPB of a circle with radius 4cm and of angle 30°.

Also find the area of the corresponding Major sector (x=3.14).

P
8

” cmﬁwawﬁ@mlﬁ'@rmchg{%wﬁﬁaﬁqwm 2
< Afsre 3R I et Aty gmg

Draw a circle of radius & cm. From a point 1-0 cm away from its centre
construct the pair of tangents to the circle and measure their lengths
231 (HOG) . (6]



25. mﬁm%wmhamwmm@ammaamamm
Fﬁmﬁﬁﬁw&mmmmwmﬁammwm%l 3

prove that the angle between the two tangents drawn from an external point to
a circle is supplementary to the angle subtended by the line-segment joining the

points of contact at the centre,

26. 2 @Rl ¥ 3T T 3T 9:7 & 3R 3T Tl BT I 4:3 & aft were s g
S A . 2000 T AT & A I Wi 3 T S 6
The ratio of Incomes of two persons is 9:7 and the ratio of their expenditures is
4:3. If each of them manages to save Rs. 2000 per month, find their monthly

—

incomes.

3ryat (OR)

o g de, Fra Rer o6 # g 18 Km/h &, 24 ke GRT 35 S I, W
/-mﬂasmgqgaanﬁa%yﬁgﬂ 1 T 3t A &1 GR1 Y aer T Hforel

A motor boat whose speed is 18 Km/h in still water takes 1 hour more to go 24

km upstream than to return downstream to the same spo

the stream.

t. Find the speed of

:% S 80 mﬂ?@rasaasa:ﬁsmsrm#-ﬁmﬁwaﬁéaﬁa@aﬁ@?l & A Wl
ﬁﬂammmﬁg@raﬁaﬁm%mmm: 60° 2t 30° 1 il Bt B

s @4l | fag & @ o1 difstel  https: /www.ukboardonline.com 6
qual heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find the
es and the distances of the point from the poles.

Two poles of e

height of the pol
Jedl (OR)

‘ m%ﬁmﬁ&@%wwaﬁaﬁamaﬁmﬁaﬁasmm
éna@ﬁﬂwﬁﬁﬁmammaﬂa&@mma

f the top and the bottom of an 8 m tall building from
respectively. Find the height

64
A 30° 3 45°
The angles of depression ©
the top of a multi storeyed bullding are 30° and 45°
I the two buildings.

of the muiti storeyed building and the distance between
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28, Rrg HFT b v wmmor B 3§ oo @ af srr a usmﬁasafﬂ

-

g

-y

i the s
prove that, In a right triangle, the square of the hypotenuse is equal to the sum

of the squares of the other two sides.
Juar (OR)

90 cm B WRATE AN UF T I o U WY & AR A W 1.2 m/sa?t'araﬂa?'r
W R YA 3.6 m B I WL, @1 4 Yoz a2 I ASS| BN BIAT DY T
T e

A girl of height 90 cm is walking away from the base of a lamp-post at a speed
of 1.2 m/s. If the lamp is 3.6 m above the ground, find the length of her shadow
after 4 seconds.

29,/ 0% 6T 305 QAa F &0 10 m & a1t 31k 2 m TR U AR S BT IS

30, &M 10 & 60 BRI & UM A At Fry ol & awfy my

ST 20 cm AT U6 U139 ERT U6 TeX ¥ Agen 81 afE osa A 9F 3 kmy/h B a@ ¥ 3z
@2, A& o wma 9 & off s s 6
A farmer connects a pipe of internal diameter 20 cm from a canal into a cylindrical
tank in her field, which is 10 m in diameter and 2m deep. If water flows through
the pipe at the rate of 3 km/h, in how much time will the tank be filled?

gl MAD! BT TGS T

oIl 6
THHFRRE | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 50-60

(WTTieh)

pawem | 6 | 14| 10 | 15 | & 10

Marks obtained In mathematics by 60 students of class X are

following table. Find the mode of the marks obtained. shown in the

231 (HOG)

Class interval (marks obtained)| 0-10 10-20| 20-30 30-40| 40 50| s0
No. of students 6 14 10 15 5 =
10
Txkkx
[8]



